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Space Time Fabric Curve in Velocity (Kepler’s
Law)
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Abstract: According to Einstein everybody make a curve in space. This curve is the case of gravity. A large body make a large curve. If
the body is in velocity than space time curve should be small in the direction of velocity and large in the opposite direction.

Keywords: variation in planet’s orbit according to the velocity of star.

1. Introduction

Let A star is in velocity and before the velocity the star had a
spherical space time curve

Hence if the star in rest then every planet orbit the star in
circular path.

Let the star is going with the velocity vs. Hence the planet is
also going the velocity vs. Because the planets is also orbiting
with sun in galaxy. So all solar system has same velocity
around the centre of galaxy(the velocity of star is greater than
the velocity of planet). Because the sun is also orbit the centre
of galaxy.

Let at any time the planet and the star are at B and S point
respectively. Then the light release in all directions from the
Sun and the light reaches at the planet when the planet and the
star get d distance. After get d distance the star and the planet
reaches at S’ and C point respectively. Let time taken from B
to Cis T than

Distance taken by the planet d=VsT

Distance taken by the light=r+VsT

=CT
Then
r+V,;T =cT
T_r+VST L
= e
Or
CT-V,T=r
T(C—-V)=r

In Opposite direction of velocity.
Late time taken from Ato D is T’

Then

Distance taken by the planet=VsT’

Distance taken by the light=CT"’
r=VT +CT'

CT'+V,T'=r

T
C+V,

T' =

When the star is in rest state. The planet orbit the star in
circular path. And get the planet light at all point of circular
path in same time from Star. What when the star is in velocity.
Get the planet light at all point of circular path in different
(according to equation 1 and 3). Same distance and different
time for light. This is not possible according to theory of
relativity.

To balance it the planets change their orbits. And increase the
distance in opposite side of star’s velocity.

So
=T

This is possible only when large time take a large distance. So
let at distance R (r change in R) T=T"

Hence

Hence, In opposite direction of velocity the distance add
2VsT term

For the position of the planet at angle 8
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Let the velocity of the star is Vs and the position of planet is
at 0 angle

Then at 8 angle.

Velocity component = V;Cose

Now
distance
speed = ——
time
r
C +V.CosO = T e b

Here, the velocity of light is greater than C, and the velocity
of light should be C. To keep constant its velocity distance r
will be decreased.
- r—r'

T

Put the value of r by equation 4
= CT + V,CosOT —r'

B T

CT = CT + VicosOT — 1’

r' = V,CosOT
At

Hence, if the planet is rotating in the perpendicular direction
of the star’s direction, then the planet will orbit the star in
circular path.

Hence, the path of planet around the star

Let N be a point on the planet path then

P =r -1V, CosOt

Vex

T’

N
,/
b Vix r' t_r'
BTG G
Vex
P=r—--
C
Put P = \/x%2 +y2
Vex
[x2 +y2 = — ==
Y C
Squaring both side side
Vox\?
24 z=< _S_)
x> +y U
Vi2x?  2rVx
2 2 _,2,8% 207
x“+y-=r-+ Cz C
2,2
y2=r2+[lsc—f—¥—x2 e

This is the Path of the planet around the star
The orbit of planet is depend upon the velocity of star and the
angle of orbit with the star’s velocity. We can see different

orbit with different velocity of star.

According to Kepler's law the earth moves around the sun in
electrical path

The equation of ellipse is

xZ yZ
2t =!
Or
b%x? + a’*y? = a?b?> ... 6
Now by equation 5
Vi2x? 2rVx
y2=r2+scz _ CS _xz
c?y? = c?r? + V2x? — 2rVxc — c?x?

cty? = x2(V2 = ¢®) + c?r? — 2rVxc
c2y? + (c? = VB)x? = c?r? — 2rVxc

Volume 13 Issue 9, September 2024
Fully Refereed | Open Access | Double Blind Peer Reviewed Journal
WWW.ijsr.net

Paper ID: MR24914154834

DOI: https://dx.doi.org/10.21275/MR24914154834 874


https://www.ijsr.net/

International Journal of Science and Research (1JSR)
ISSN: 2319-7064
SJIF (2022): 7.942

Condition for elliptical path of our solar system.

c?r? = 2rVyxc = c?(c? — V;?)
c?r? — 2rV,xc = ¢* — c?V?
c?r? —c* + c?V2? = 2rVxc

c(r* + V2 —c® =2rVx

c(r?* + V2 —c?) =2rVx w7
By equation
x
cosf = —
r
Then
x =71'cosf

Put in equation 7

c(r? + V2 — c?) = 2rV,cosOr’
r' = V,cosOT

Now

c(r? + V2 — ¢?) = 2rV,cosOV,cosOT
c(r* + V2 —c?) =2rV2cos’0 T
c(r? + V2 —c?)

2 =
Cos“ 0 22T

This angle required for elliptical path

Where T is time taken by light from star to planet

This angle is between velocity of sun’s direction and the orbit
of planet.

Application

1)
2)
3)
4)
5)

6)

To determine the velocity of star.

Important information in gravity.

Find the orbit of planet around the star.

To get the information about the solar system and galaxy.
Kepler’s law are use in only our solar system. But this
theory is use for all solar systems in universe.

This theory tells us about the nature of space time fabric
carve.
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